S.Y.B.Com (Sem-IV) April-2023
|

Q.P. Code:00000966
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Please check whether you have got the right question paper.
N.B: 1. All question are compulsory.
2. Figures to the right indicate full marks.
3. Students answering in the regional language should refer in case of

doubt to the main text of the paper in English.

Q.1.A. Select the most appropriate answer from the options given below. (Any 10)
1) - is an appropriate media to advertise to middle class house wives
a) Radio, b) Outdoor, c) Digital, d) TV
2) ----—--- advertising has a shorter life.
a) Magazines, b) Pamphlet,c) TV, d) Radio
3) In India, the first radio program was aired in the year......
a) 1923,b) 1950, c) 1933, d)1953
4) --m-mme-- medium Combine the effect of video and audio.

a) TV, b) Radio,c) Outdoor, d)Digital

5) DAGMAR advertising model was proposed by ------------- ------in 1961.
a) Russell Colley, b) Philip Kotler,c) F.W. Taylor, d) Peter Drucker

6) -------- refers to specific class of media used to advertise the product.

a) media vehicle, b) advertising agency , ¢) advertising campaign , d)marketing
department

7) ----- refers to intention behind the purchase

a) Selling points, b) buying motives, ¢) Appeals, d) competition

8) -------- refers to conceiving a new idea.

a) creativity ,b) slogan, ¢) visualisation, d) reflection

9) ... copy is also known as reason why copy in ads.
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a) Hardsell,b) Coldsell,c) Softsell, d)marketing
10) Jingle is associated with ------
a) Radioads,b) Internetads, ¢) Newspapersads, d)Magazines ads,

11) --------- copy is based on current events
a) Topical, b) logical,c) humorous, d)emotional
12) A layout that has no balance is called ------

a) formal, b) informal, ¢) scattered, d) untidy

State Whether the following statements are true OR false:(Any 10) (10 marks)

1) Big firms spend less on advertising.

2) newspaper media can provide media support with current event.

3) The first step in DAGMAR is conviction

4) Ad agency and head of production department discuss and prepare ad budget.

5) Shampoo is an example of low involvement product.

6) Fear appeal is a negative emotional appeal.

7) Meditation is a technique of visualisation

8) In advertising, USP stands for, Unique Selling Price

9) Luxurious car is an example of low involvement product.

10) Celebrities refers to refers to people who have fan followers and endorse the
product on behalf of the advertisers.

11) Copywriting is considered the soul of advertising

12) Logo acts as a corporate signature

Answer any two of the following : (15 Marks)
1) Explain the role of newspaper advertising in modern world.
2) What are the advantages of the broadcast media

3) What are the limitations of internet advertising.
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Answer any two of the following : (15 Marks)

1) Explain different steps involved in planning advertising campaign.

2) Discuss the factor influencing advertising budget.

3) ‘There are several aspects to be considered while selecting media for advertising’.

Discuss.

Answer any two of the following : (15 Marks)
1) Explain the relevance of creativity in advertisement.
2) Discuss different techniques of visualization in advertising.

3) Elaborate advantages of celebrity endorsement.

Answer any two of the following : (15 Marks)
1) What are the essentials of copywriting?
2) What are the principles of effective layout in print advertising?

3) Explain different pre-testing methods of evaluation of advertising.

Write short notes on any four : (20 Marks)
1.Transit advertising.

2. Digital advertising

3. Appeals

4. Media scheduling strategies

5. Disadvantages of celebrity endorsement.

6. Need of jingles in advertising.
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